
For each of the following reactions, identify the type of reaction. For precipitate and acid 
reactions give the net ionic reaction, for redox reactions identify the elements oxidized 
and reduced using brackets. 
 

1. FeCl
3
  + Zn    ZnCl

2
  + Fe 

 
 
 
2. NaOH + AgNO3 --> NaNO3 + AgOH 

 
 
 
 

3. NH4OH + HBr --> H2O + NH4Br 
 
 
 
 

4. KClO
3
    KCl  +  O

2
 

 

 

 
5. CH4 +  O2 --> CO2 +  H2O 

 
 
 
 

6. HCl + Na2S  H2S + NaCl 
 
 
 
 

7. Zn  +  HNO
3
    Zn(NO

3
)
2
  +  NO

2
  +  H

2
0 

 
 
 

8. NH
3
  +  O

2
     NO  +  H

2
O   

 
 
 

9. CaSO4 + Pb(OH)2 --> Ca(OH)2 + PbSO4 
 
 
 

10.  Fe +  NaBr -->  FeBr3 +  Na 


